ANUSHKA ACADEMY

SSC MOCK TEST - 166 (ANSWER KEY)

1. (B 26. (B)
2. (A 27. ()
3. (D) 28. (A)
4. (Q) 29. (B)
5. (D) 30. (B)
6. (D) 31. (B)
7.  (B) 32. (A
8. (D) 33. (B)
9. (Q) 34. (B)
10. (D) 35. (D)
11. (Q) 36. (D)
12. (B) 37. (C)
13. (B) 38. (A)
14. (D) 39. (B)
15. (A) 40. (C)
16. (D) 41. (D)
17.  (Q) 42. (C)
18. (B) 43. (A
19. (B) 44. (A
20. (B) 45. (B)
21. (A) j?- (i)
22. (D) e (C)
23. (4) s (D)
24. (C) - (D)
25, (A) 50. (A)

51. (A) 76. (C)
52. (D) 77.  (A)
53. (A) 78. (B)
54. (A) 79. (D)
55. (C) 80. (A)
56. (A) 81. (D)
57. (B) 82. (A)
58. (D) 83. (B)
59. (B) 84. (D)
60. (A) 85. (D)
61. (Q) 86. (B)
62. 4(A) 87. (A)
63.“4B) 88. (D)
64. (D) 89. (A)
65"(4) 90. (B)
66,/ (B) 91. (B)
67.% (B) 92. (D)
63 (C) 93. (B)
69. (B) 94. (C)
70. (B) 95. (A)
71. (B) 96. (D)
72. (B) 97. (B)
o O %, (a)
75. (B) 100. (B)

76. (C)

77. (A)

78. (B)

79. (D)

80. (A)

Given sentence is an _assertive

sentence (not an interrogative sentence),
so there is no need of using inversion form.
Replace ‘did he’ with he did’.

Here from this structure, itiseems that
‘hat’ is the ‘subjectf of s€ritence which
is incorrect. Thus ‘a@dd ‘while I was’
before ‘walking along, the street’
Given sentenee is inj) ‘Passive Voice’,
Thus replace, ‘cannet gathered’ with
‘cannot be gathesed’.

‘Between’4is used for two person and
‘among’ is used for more than two.

The werdgthanging around’ means

linger orywait’.

89. (A)

90. (B)

'Await' itself means 'to wait for'. It does
not take prepostion 'for' with it.
According to the sentence the verb
should be in active voice and in past
perfect tense. Hence replace 'were
prepared' with 'had prepared'.
Subjunctive constructions do not need
‘should’.

The sentence and question tag must be
in the same tense. Be careful while using
‘pronoun'. Refer to Chapter 5 of Volume-1
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